

Project Name : !! Kanix Residency !!!

Task Name : mahi test 11122 3

Total Records: 51781 Records 1 to 3000

**Material Requirement For Task** 

Material Name		Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency 00 SAKARIYA finishing_75927		363.2000	Cu.Cm		
53 Grade cement		1000.0000	Bag of 50 Kg_C	350.00	350000.00
A_JCB		50.0000	No.	1000000.00	50000000.00
ACCESSORIES KIT FOR CONST		50.0000	No.	0.00	0.00
Brick 6"		20.0000	No.	17.70	354.00
Bricks 6"		0.0000	Each	50.00	0.00
CEMENT12		20.0000		0.00	0.00
COMPRESSION TESTING MACHI		20.0000	No.	200000.00	4000000.00
	Total				54350354.00
K_Residency 00 SAKARIYA finishing		3200.0000	Cu.Cm		
Brick 6"		20.0000	No.	35.40	708.00
Bricks 10"		50.0000	Sq.Ft	1000.00	50000.00
	Total				50708.00
K_Residency RCC_Rgv		100.0000	Cu.Mtrs		
CEMENT 53 GRADE		2500.0000	Bags	500.00	1250000.00
	Total				1250000.00
BrickWork Brickwork		50000.0000	Sq.Ft		
Brick 6"		250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE		7500.0000	Bags	23600.00	177000000.00
NATURAL SAND		15000.0000	Cu.Mtrs	826.00	12390000.00
	Total				193815000.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00

21/10/2020 10:06:59 File:- [1], Page No:-[1]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	10.0000	Bundle	150.00	1500.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000		35.40	0.00
CEMENT 43 GRADE	0.0000	Bags	600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1210151.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000		23600.00	0.00
Crushed Sand - Bag of 50		Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[2]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
To	tal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
To	tal			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
To	tal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
To	tal			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
To	tal			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
To	tal			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
To	tal			79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
То	tal			0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00

21/10/2020 10:06:59 File:- [1], Page No:-[3]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00

21/10/2020 10:06:59 File:- [1], Page No:-[4]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.7500		23.60	17.70
NATURAL SAND		Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90

21/10/2020 10:06:59 File:- [1], Page No:-[5]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	•	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[6]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[7]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00

21/10/2020 10:06:59 File:- [1], Page No:-[8]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[9]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	I			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tota	I			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tota	1			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Tota	1			79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Tota	I			0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Tota	I			23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tota	ı			1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Tota	1			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00

21/10/2020 10:06:59 File:- [1], Page No:-[10]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000		23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000		23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[11]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Tota	I			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	I			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Tota	I			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	I			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tota	I			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tota	I			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Tota	I			79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Tota	I			0.00

21/10/2020 10:06:59 File:- [1], Page No:-[12]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tota				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Tota				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Tota				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Tota				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Tota				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000		700.00	8400.00
BISON PANEL 12 MM THK	12.0000		11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND		Cu.Mtrs	826.00	0.00
Tota				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[13]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60

21/10/2020 10:06:59 File:- [1], Page No:-[14]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	-	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000		150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00

21/10/2020 10:06:59 File:- [1], Page No:-[15]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BISON PANEL 12 MM THK	12.0000	Sg.Ft	11.80	141.60
Brick 6"	0.0000	•	17.70	0.00
CEMENT 43 GRADE	0.0000		23600.00	0.00
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[16]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00

21/10/2020 10:06:59 File:- [1], Page No:-[17]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND		Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[18]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS		Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		

21/10/2020 10:06:59 File:- [1], Page No:-[19]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[20]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50		Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		

21/10/2020 10:06:59 File:- [1], Page No:-[21]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[22]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Tota				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Tota				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Tota	1			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Tota				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	1			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tota				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[23]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00

21/10/2020 10:06:59 File:- [1], Page No:-[24]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[25]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
To	otal			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
To	otal			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
To	otal			79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
To	otal			0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
To	otal			1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
To	otal			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
T	otal			847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Т	otal			847700.00

21/10/2020 10:06:59 File:- [1], Page No:-[26]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[27]

Material Name		Estimated Qty	Material UOM	Estimated Price	Estimated Cost
	Total				0.00
K_Residency RMC M10		0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS		0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS		0.0000	Cu.Mtrs	0.00	0.00
Test_Cement		0.0000	Cu.Cm	550.00	0.00
	Total				0.00
K_Residency RCC M20 Natural sand		0.0000	Cu.Ft		
CEMENT 43 GRADE9336		0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE		0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM		0.0000	Cu.Ft	23.60	0.00
NATURAL SAND		0.0000	Cu.Mtrs	826.00	0.00
SANLA		0.0000	Bags	80.00	0.00
	Total				0.00
K_Residency RCC M20 Natural sand		1.0000	Cu.Ft		
CEMENT 43 GRADE9336		0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE		0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM		0.7500	Cu.Ft	23.60	17.70
NATURAL SAND		0.6000	Cu.Mtrs	826.00	495.60
SANLA		20.0000	Bags	80.00	1600.00
	Total				9334.90
K_Residency Cement Work		110.0000	Sq.Ft		
Test_Cement		220.0000	Bags	360.00	79200.00
	Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT		0.0000	0001 BaG		
CEMENT 43 GRADE9336		0.0000	Bags	23600.00	0.00
	Total				0.00
K_Residency 00 SAKARIYA finishing		1000.0000	Cu.Cm		
CEMENT 43 GRADE9336		1.0000	Bags	23600.00	23600.00
	Total				23600.00
K_Residency RCC_Rgv		100.0000	Cu.Mtrs		
CEMENT 53 GRADE		2500.0000	Bags	500.00	1250000.00
	Total				1250000.00
BrickWork Brickwork		50000.0000	Sq.Ft		
Brick 6"		250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE		7500.0000	Bags	23600.00	177000000.00
NATURAL SAND		15000.0000	Cu.Mtrs	826.00	12390000.00

21/10/2020 10:06:59 File:- [1], Page No:-[28]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00

21/10/2020 10:06:59 File:- [1], Page No:-[29]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Tota				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Tota				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tota				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tota				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[30]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Test Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[31]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND		Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND		Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[32]

Material Name		Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RCC M20 Natural sand		1.0000	Cu.Ft		
CEMENT 43 GRADE9336		0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE		0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM		0.7500	Cu.Ft	23.60	17.70
NATURAL SAND		0.6000	Cu.Mtrs	826.00	495.60
SANLA		20.0000	Bags	80.00	1600.00
	Total				9334.90
K_Residency Cement Work		110.0000	Sq.Ft		
Test_Cement		220.0000	Bags	360.00	79200.00
	Total				79200.00
K_Residency 00 SAKARIYA finishing		1000.0000	Cu.Cm		
CEMENT 33 GRADE		0.0000	Bags	23600.00	0.00
	Total				0.00
K_Residency RCC_Rgv		100.0000	Cu.Mtrs		
CEMENT 53 GRADE		2500.0000	Bags	500.00	1250000.00
	Total				1250000.00
BrickWork Brickwork		50000.0000	Sq.Ft		
Brick 6"		250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE		7500.0000	Bags	23600.00	177000000.00
NATURAL SAND		15000.0000		826.00	12390000.00
	Total				193815000.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00

21/10/2020 10:06:59 File:- [1], Page No:-[33]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10		Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[34]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Tot	al			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tot	al			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tot		, and the second		9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000		360.00	79200.00
Tot				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Tot				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tot				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Tot	al			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000		500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Tot				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00

21/10/2020 10:06:59 File:- [1], Page No:-[35]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[36]

Material Name		Estimated Qty	Material UOM	Estimated Price	Estimated Cost
	Total				0.00
K_Residency RMC M25		0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS		0.0000	Cu.Mtrs	4450.00	0.00
	Total				0.00
K_Residency RMC M10		0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS		0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS		0.0000	Cu.Mtrs	0.00	0.00
Test_Cement		0.0000	Cu.Cm	550.00	0.00
	Total				0.00
K_Residency RCC M20 Natural sand		0.0000	Cu.Ft		
CEMENT 43 GRADE9336		0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE		0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM		0.0000	Cu.Ft	23.60	0.00
NATURAL SAND		0.0000	Cu.Mtrs	826.00	0.00
SANLA		0.0000	Bags	80.00	0.00
	Total				0.00
K_Residency RCC M20 Natural sand		1.0000	Cu.Ft		
CEMENT 43 GRADE9336		0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE		0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM		0.7500	Cu.Ft	23.60	17.70
NATURAL SAND		0.6000	Cu.Mtrs	826.00	495.60
SANLA		20.0000	Bags	80.00	1600.00
	Total				9334.90
K_Residency Cement Work		110.0000	Sq.Ft		
Test_Cement		220.0000	Bags	360.00	79200.00
	Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT		0.0000	0001 BaG		
CEMENT 43 GRADE9336		0.0000	Bags	23600.00	0.00
	Total				0.00
K_Residency 00 SAKARIYA finishing		1000.0000	Cu.Cm		
CEMENT 43 GRADE9336		1.0000	Bags	23600.00	23600.00
	Total				23600.00
K_Residency RCC_Rgv		100.0000	Cu.Mtrs		
CEMENT 53 GRADE		2500.0000		500.00	1250000.00
	Total				1250000.00
BrickWork Brickwork		50000.0000	Sq.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[37]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00

21/10/2020 10:06:59 File:- [1], Page No:-[38]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement		Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	-	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000		80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060		23600.00	7221.60
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.7500		23.60	17.70
NATURAL SAND		Cu.Mtrs	826.00	495.60
SANLA	20.0000		80.00	1600.00

21/10/2020 10:06:59 File:- [1], Page No:-[39]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	-	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60

21/10/2020 10:06:59 File:- [1], Page No:-[40]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[41]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
SANLA	0.0000	Bags	80.00	0.00
Tot				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
To				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	•	360.00	79200.00
To				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
To				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tot				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000		17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
To	al			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
To	al			847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
To	al			847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00

21/10/2020 10:06:59 File:- [1], Page No:-[42]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[43]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00

21/10/2020 10:06:59 File:- [1], Page No:-[44]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[45]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
	otal			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Т	otal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Т	otal			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Т	otal			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Т	otal			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Т	otal			79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Т	otal			0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Т	otal			23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00

21/10/2020 10:06:59 File:- [1], Page No:-[46]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60

21/10/2020 10:06:59 File:- [1], Page No:-[47]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000		23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70

21/10/2020 10:06:59 File:- [1], Page No:-[48]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000		80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00

21/10/2020 10:06:59 File:- [1], Page No:-[49]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	•	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[50]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		

21/10/2020 10:06:59 File:- [1], Page No:-[51]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[52]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	I			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tota				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND		Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tota				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Tota				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Tota				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tota	ı			1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Tota	I			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00

21/10/2020 10:06:59 File:- [1], Page No:-[53]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50		Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[54]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000			
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00

21/10/2020 10:06:59 File:- [1], Page No:-[55]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000		500.00	1250000.00
Total		, and the second		1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	17700000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[56]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60

21/10/2020 10:06:59 File:- [1], Page No:-[57]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00

21/10/2020 10:06:59 File:- [1], Page No:-[58]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[59]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00

21/10/2020 10:06:59 File:- [1], Page No:-[60]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000	)	0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[61]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		

21/10/2020 10:06:59 File:- [1], Page No:-[62]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	<u> </u>	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000		23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[63]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		

21/10/2020 10:06:59 File:- [1], Page No:-[64]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"		Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[65]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Tota	I			1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Tota	I			96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Tota	I			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	I			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Tota	I			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	I			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tota	I			0.00

21/10/2020 10:06:59 File:- [1], Page No:-[66]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	-	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	-	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000		500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00

21/10/2020 10:06:59 File:- [1], Page No:-[67]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[68]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Tot	al			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tot	al			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tot		, and the second		9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000		360.00	79200.00
Tot				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Tot				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tot				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Tot	al			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000		500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Tot				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00

21/10/2020 10:06:59 File:- [1], Page No:-[69]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[70]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00

21/10/2020 10:06:59 File:- [1], Page No:-[71]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[72]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
1	otal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
1	otal			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
1	otal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test Cement	0.0000	Cu.Cm	550.00	0.00
1	otal			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
1	otal			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
1	otal			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
	otal			79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[73]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60

21/10/2020 10:06:59 File:- [1], Page No:-[74]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[75]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
SANLA	0.0000	Bags	80.00	0.00
Tot				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
To				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	•	360.00	79200.00
To				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
To				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tot				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000		17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
To	al			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
To	al			847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
To	al			847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00

21/10/2020 10:06:59 File:- [1], Page No:-[76]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[77]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00

21/10/2020 10:06:59 File:- [1], Page No:-[78]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[79]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00

21/10/2020 10:06:59 File:- [1], Page No:-[80]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	_	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[81]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
1	otal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
	otal			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
	otal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
	otal			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
	otal			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
	otal			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
1	otal			79200.00

21/10/2020 10:06:59 File:- [1], Page No:-[82]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000		23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00

21/10/2020 10:06:59 File:- [1], Page No:-[83]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	•	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000		23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS		Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement		Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000		23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[84]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		

21/10/2020 10:06:59 File:- [1], Page No:-[85]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[86]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	17700000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00

21/10/2020 10:06:59 File:- [1], Page No:-[87]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50		Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[88]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00

21/10/2020 10:06:59 File:- [1], Page No:-[89]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000		17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00

21/10/2020 10:06:59 File:- [1], Page No:-[90]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[91]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	17700000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total		, and the second		1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6		01AA_PerPiece	6.00	1200000.00

21/10/2020 10:06:59 File:- [1], Page No:-[92]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[93]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00

21/10/2020 10:06:59 File:- [1], Page No:-[94]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000	)	0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[95]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		

21/10/2020 10:06:59 File:- [1], Page No:-[96]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[97]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[98]

Material Name		Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE		2500.0000	Bags	500.00	1250000.00
	Total				1250000.00
BrickWork Brickwork		50000.0000	Sq.Ft		
Brick 6"		250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE		7500.0000	Bags	23600.00	177000000.00
NATURAL SAND		15000.0000	Cu.Mtrs	826.00	12390000.00
	Total				193815000.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000		11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000		11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
PCC 1:3:6m		0.0000	Cu.Ft		
00AA Brick Size 6		200000.0000	01AA PerPiece	6.00	1200000.00
ABRO TAPE		100.0000	Bundle	150.00	15000.00
Aggregate 1/2"		10.0000	Cum_C	11.00	110.00
ARALDITE		12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK		12.0000		11.80	141.60
Brick 6"		0.0000		17.70	0.00
CEMENT 43 GRADE		0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE		0.0000		500.00	0.00
COARSE AGG. 20 MM		0.0000		23.60	0.00
NATURAL SAND			Cu.Mtrs	826.00	0.00
	Total				1223651.60
K_Residency RMC M20		410.0000	Cu.Mtrs		
CEMENT 53 GRADE		4100.0000		23600.00	96760000.00

21/10/2020 10:06:59 File:- [1], Page No:-[99]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00

21/10/2020 10:06:59 File:- [1], Page No:-[100]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000		17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	·	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000		500.00	1250000.00
Total				1250000.00

21/10/2020 10:06:59 File:- [1], Page No:-[101]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[102]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00

21/10/2020 10:06:59 File:- [1], Page No:-[103]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[104]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00

21/10/2020 10:06:59 File:- [1], Page No:-[105]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[106]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50		Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[107]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000		17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60

21/10/2020 10:06:59 File:- [1], Page No:-[108]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000		23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70

21/10/2020 10:06:59 File:- [1], Page No:-[109]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000		500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	-	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000		500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[110]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[111]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00

21/10/2020 10:06:59 File:- [1], Page No:-[112]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[113]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00

21/10/2020 10:06:59 File:- [1], Page No:-[114]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[115]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
То	al			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
То	al			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
То	al			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
To	al			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
To	al			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
To	al			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
То	al			79200.00

21/10/2020 10:06:59 File:- [1], Page No:-[116]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[117]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60

21/10/2020 10:06:59 File:- [1], Page No:-[118]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Total				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00

21/10/2020 10:06:59 File:- [1], Page No:-[119]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[120]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00

21/10/2020 10:06:59 File:- [1], Page No:-[121]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	-	11.80	708000.00
CEMENT 53 GRADE	250.0000		500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6		01AA PerPiece	6.00	1200000.00
ABRO TAPE	100.0000		150.00	15000.00
Aggregate 1/2"		Cum_C	11.00	110.00
ARALDITE	12.0000		700.00	8400.00
BISON PANEL 12 MM THK	12.0000		11.80	141.60
Brick 6"	0.0000		17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND		Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000		23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000		23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000		23600.00	0.00
Crushed Sand - Bag of 50		Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[122]

Material Name		Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RMC M10		0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS		0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS		0.0000	Cu.Mtrs	0.00	0.00
Test_Cement		0.0000	Cu.Cm	550.00	0.00
	Total				0.00
K_Residency RMC M25		0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS		0.0000	Cu.Mtrs	4450.00	0.00
	Total				0.00
K_Residency RMC M10		0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS		0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS		0.0000	Cu.Mtrs	0.00	0.00
Test_Cement		0.0000	Cu.Cm	550.00	0.00
	Total				0.00
K_Residency RCC M20 Natural sand		0.0000	Cu.Ft		
CEMENT 43 GRADE9336		0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE		0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM		0.0000	Cu.Ft	23.60	0.00
NATURAL SAND		0.0000	Cu.Mtrs	826.00	0.00
SANLA		0.0000	Bags	80.00	0.00
	Total				0.00
K_Residency RCC M20 Natural sand		1.0000	Cu.Ft		
CEMENT 43 GRADE9336		0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE		0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM		0.7500	Cu.Ft	23.60	17.70
NATURAL SAND		0.6000	Cu.Mtrs	826.00	495.60
SANLA		20.0000	Bags	80.00	1600.00
	Total				9334.90
K_Residency Cement Work		110.0000	Sq.Ft		
Test_Cement		220.0000	Bags	360.00	79200.00
	Total				79200.00
K_Residency 00 SAKARIYA finishing		1000.0000	Cu.Cm		
CEMENT 33 GRADE		0.0000	Bags	23600.00	0.00
	Total				0.00
K_Residency RCC_Rgv		100.0000	Cu.Mtrs		
CEMENT 53 GRADE		2500.0000	Bags	500.00	1250000.00
	Total				1250000.00

21/10/2020 10:06:59 File:- [1], Page No:-[123]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000		17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00

21/10/2020 10:06:59 File:- [1], Page No:-[124]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		

21/10/2020 10:06:59 File:- [1], Page No:-[125]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"		Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[126]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000		23.60	0.00
NATURAL SAND		Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00

21/10/2020 10:06:59 File:- [1], Page No:-[127]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tot	al			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Tot				79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Tot				0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Tot				23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tot		V		1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Tot	al			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Tot	al			847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	_	11.80	708000.00
CEMENT 53 GRADE	250.0000		500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Tot				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00

21/10/2020 10:06:59 File:- [1], Page No:-[128]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[129]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		

21/10/2020 10:06:59 File:- [1], Page No:-[130]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	<u> </u>	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	•	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000		14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000		500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000		23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000		17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[131]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Tota				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Tota				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Tota	I			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
Tota				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500		23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tota				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Tota				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Tota				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		

21/10/2020 10:06:59 File:- [1], Page No:-[132]

Material Name		Estimated Qty	Material UOM	Estimated Price	Estimated Cost
CEMENT 53 GRADE		2500.0000	Bags	500.00	1250000.00
	Total				1250000.00
BrickWork Brickwork		50000.0000	Sq.Ft		
Brick 6"		250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE		7500.0000	Bags	23600.00	177000000.00
NATURAL SAND		15000.0000	Cu.Mtrs	826.00	12390000.00
	Total				193815000.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000		11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
First Floor BBM 115MM (CM 1:4)		1000.0000	Sq. Mtr.		
BRICK 4"		60000.0000		11.80	708000.00
CEMENT 53 GRADE		250.0000	Bags	500.00	125000.00
STONE DUST		1050.0000	Cu.Ft	14.00	14700.00
	Total				847700.00
PCC 1:3:6m		0.0000	Cu.Ft		
00AA Brick Size 6		200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE		100.0000	Bundle	150.00	15000.00
Aggregate 1/2"		10.0000	Cum_C	11.00	110.00
ARALDITE		12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK		12.0000		11.80	141.60
Brick 6"		0.0000		17.70	0.00
CEMENT 43 GRADE		0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE		0.0000		500.00	0.00
COARSE AGG. 20 MM		0.0000		23.60	0.00
NATURAL SAND			Cu.Mtrs	826.00	0.00
	Total				1223651.60
K_Residency RMC M20		410.0000	Cu.Mtrs		
CEMENT 53 GRADE		4100.0000		23600.00	96760000.00

21/10/2020 10:06:59 File:- [1], Page No:-[133]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Тс	otal			96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
To	otal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
To	otal			0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
To	otal			0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
To	otal			0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
SANLA	0.0000	Bags	80.00	0.00
To	otal			0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE		Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000		80.00	1600.00

21/10/2020 10:06:59 File:- [1], Page No:-[134]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Total				9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Total				79200.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Total				0.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Total				1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	17700000.00
NATURAL SAND	15000.0000		826.00	12390000.00
Total				193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000		11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	-	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Total				847700.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000		150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60

21/10/2020 10:06:59 File:- [1], Page No:-[135]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 43 GRADE	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00
Total				1223651.60
K_Residency RMC M20	410.0000	Cu.Mtrs		
CEMENT 53 GRADE	4100.0000	Bags	23600.00	96760000.00
COARSE AGG. 20 MM	9840.0000	Cu.Ft	23.60	232224.00
Total				96992224.00
BUILDING AND DEVELOPMENT WORK TO BE DONE LATER !!Task1230	0.0000	Sq.Ft		
1001 - CEMENT 33 GRADE	0.0000	Bags	150.00	0.00
Brick 6"	0.0000	No.	17.70	0.00
CEMENT 33 GRADE	0.0000	Bags	23600.00	0.00
Crushed Sand - Bag of 50	0.0000	Cum_C	220.00	0.00
XYZ CEMENT 43 GRDE	0.0000		0.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RMC M25	0.0000	Cu.Mtrs		
RMC M25 GRADE - CU.MTRS	0.0000	Cu.Mtrs	4450.00	0.00
Total				0.00
K_Residency RMC M10	0.0000	Cu.Mtrs		
RMC M10 GRADE - CU.MTRS	0.0000	Cu.Mtrs	2600.00	0.00
RMC M30 GRADE - CU.MTRS	0.0000	Cu.Mtrs	0.00	0.00
Test_Cement	0.0000	Cu.Cm	550.00	0.00
Total				0.00
K_Residency RCC M20 Natural sand	0.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.0000	Cu.Ft	23.60	0.00
NATURAL SAND	0.0000	Cu.Mtrs	826.00	0.00

21/10/2020 10:06:59 File:- [1], Page No:-[136]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
SANLA	0.0000	Bags	80.00	0.00
Tot				0.00
K_Residency RCC M20 Natural sand	1.0000	Cu.Ft		
CEMENT 43 GRADE9336	0.3060	Bags	23600.00	7221.60
CEMENT 53 GRADE	0.0000	Bags	500.00	0.00
COARSE AGG. 20 MM	0.7500	Cu.Ft	23.60	17.70
NATURAL SAND	0.6000	Cu.Mtrs	826.00	495.60
SANLA	20.0000	Bags	80.00	1600.00
Tot	al			9334.90
K_Residency Cement Work	110.0000	Sq.Ft		
Test_Cement	220.0000	Bags	360.00	79200.00
Tot	al			79200.00
K_Residency INTERNAL PLASTER - CEMENT	0.0000	0001 BaG		
CEMENT 43 GRADE9336	0.0000	Bags	23600.00	0.00
Tot	al			0.00
K_Residency 00 SAKARIYA finishing	1000.0000	Cu.Cm		
CEMENT 43 GRADE9336	1.0000	Bags	23600.00	23600.00
Tot	al			23600.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tot	al			1250000.00
BrickWork Brickwork	50000.0000	Sq.Ft		
Brick 6"	250000.0000	No.	17.70	4425000.00
CEMENT 43 GRADE	7500.0000	Bags	23600.00	177000000.00
NATURAL SAND	15000.0000	Cu.Mtrs	826.00	12390000.00
Tot	al			193815000.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Tot	al			847700.00
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Tot	al			847700.00

21/10/2020 10:06:59 File:- [1], Page No:-[137]

Material Name	Estimated Qty	Material UOM	Estimated Price	Estimated Cost
First Floor BBM 115MM (CM 1:4)	1000.0000	Sq. Mtr.		
BRICK 4"	60000.0000	No.	11.80	708000.00
CEMENT 53 GRADE	250.0000	Bags	500.00	125000.00
STONE DUST	1050.0000	Cu.Ft	14.00	14700.00
Tota	I			847700.00
K_Residency RCC_Rgv	100.0000	Cu.Mtrs		
CEMENT 53 GRADE	2500.0000	Bags	500.00	1250000.00
Tota	I			1250000.00
PCC 1:3:6m	0.0000	Cu.Ft		
00AA Brick Size 6	200000.0000	01AA_PerPiece	6.00	1200000.00
ABRO TAPE	100.0000	Bundle	150.00	15000.00
Aggregate 1/2"	10.0000	Cum_C	11.00	110.00
ARALDITE	12.0000	Kgs	700.00	8400.00
BISON PANEL 12 MM THK	12.0000	Sq.Ft	11.80	141.60
Brick 6"	0.0000	No.	17.70	0.00
Tota	I			1223651.60

21/10/2020 10:06:59 File:- [1], Page No:-[138]